INSTALLATION INSTRUCTIONS
37021/37022/37023
94 — 01 Dodge Ram P.U. Regular Cab/Quad Cab 4Dr. & Club Cab 3 Dr.

Parts List (1) Hardware kit including : )
QTY _ (4) M12 x 120 mm Hex head bolts (4) 3/8"X 1 1/4” Hex head bolts
(1) Sld(_ebar set (4) 1/2 x 1 1/2” Hex head bolts (4) 3/8" Flat washers
(2) (FDrl\;er & Passeflgefl)a et (4) 1/2x 1 1/2" Cut carriage head bolts (4) 3/8" Lock washers
ront main mounting brackets 12) 1/2” Flat washers
(2) Front auxiliary mounting brackets Elzg 1/2" Lock washers
(2) Rear main mounting brackets (4) 1/2” Hex nuts

(2) Rear auxiliary mounting brackets

Tools Required :

3/4” Socket 3/4” Wrench
9/16” Socket Ratchet
Instructions : Approximated installation time: 30 min.

1. Read and understand instructions completely before beginning installation.

2. Sidebar set consist of a driver and passenger side. Be sure to determinate the correct side before installation.

3. Remove front and rear body mounts bolts located under cab of vehicle. Install front and rear main mounting brackets using a M12 x
120mm Hex Bolt, 1/2" flat washer, and 1/2" lockwasher. Leave loose. Picture 1 & 5. Note: Be sure to keep existing washer and rubber
bushing in place.

4. To install auxiliary mounting brackets, locate the existing holes beneath the vehicle in the rocker panel. Then insert a 1/2 x 1 1/2" cut
carriage head bolt as shown in Picture 3, turn 1/4 the bolt to secure the head in the hole and bolt auxiliary mounting brackets using 3/8”
flat and lock washers, and 3/8” hex nut. Leave hardware loose.

5. Place the sidebar up to the front and rear main mounting brackets. Bolt front/rear main mounting brackets using the 1/2 x 1 1/2” hex
head bolts, flat and lock washers. Secure auxiliary mounting brackets using 3/8 x 1 1/4” hex head bolts, flat and lock washers. Picture 4
& 6. Leave loose.

6. Make any final adjustments to the alignment of the sidebar and tighten all bolts. Repeat for the opposite side.

7. You may need to periodically re-tighten the bolts.

Assembly Diagram :

Picture 1

Place here 1/2 x 1 1/2" cut ,-" ‘J
carriage head bolt s
/

Front main
mounting bracket

Front auxiliary
mounting bracket

Rear main
mounting bracket

Rear auxiliary
mounting bracket

Revised 28/10/03 E!?g“ﬁé‘im;”x‘e Fecha Max. Emp: 06/abr/2011
G:\Usuarios\Disefio\Nuevos Productos\Instructivos\37's\37021R-ing.pdf ggzzhlé_; 2 ;0;27 1of2 FODI7.003.E

Motivo: <fiinguna>



INSTALLATION INSTRUCTIONS
37021/37022/37023
94 — 01 Dodge Ram P.U. Regular Cab/Quad Cab 4Dr. & Club Cab 3 Dr.

Picture 3 Picture 4

1/2x1 1/2" cut

Front main )
carriage head bolt

mounting brack
(driver side)

3/8 x 1 1/4” Hex
head bolt

N

Introduce 1/2 x 1 1/2”
cut carriage head bolt in
the existing hole, then

O 1 turn 1/4 to secure the
head into the hole

Front auxiliary mounting
bracket (driver side)

Picture 5 Picture 6

1/2 x 1 1/2" cut

Place here 1/2 x 1 \ carriage head bolt.
1/2” cut carriage i -
head bolt

Rear main mou

bracket (passenger
side) =

Cleaning and care instructions :
Protect the finish with a non-abrasive automotive wax, (e.g. Pure Carnauba) on a regular basis. The use of any soap, polish, or wax that
contains an abrasive is detrimental to the finish, as the compounds scracht the finish and cause corrosion.

Revised 28/10/03 bor e Fecha Max. Emp: 06/abr/2011

Fada 20080827 20f2 FODI7.003.E
08:21:46 406'00'
Motivo: <fiinguna>

G:\Usuarios\Disefio\Nuevos Productos\Instructivos\37’s\37021R-ing.pdf



	HoyE: Fecha Máx. Emp: 06/abr/2011
		2005-05-27T08:21:46-0600
	E. Arana
	<ninguna>




